Section 1.2
Unit Price (continued)



Lesson 7:

Comparing Costs
using Unit Rates



When comparing
costs using unit
rates, the "better
buy"” always goes
with the |Jowest unit
price.



Example:
A 48-0z can of tomatoes costs

$2.99. An 18-0z can costs $1.19.
Which Is a better buy?
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Lesson 8:

Solving
Problems with
Proportions or
Unit Prices



Example 3:
Solve using proportions

Shirin is the manager of a fabric store and is training a new employee. Shirin wants to
make an easy reference chart that lists the prices of different lengths of a fabric. One

metre of the fabric costs $8.42. Fill in the rest of the chart.

FABRIC COST BY LENGTH
Length of fabnc Cost of fabnc
0.5m

m 58.47

1.75m
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Example 3:
Alternate method using unit price

Shirin is the manager of a fabric store and is training a new employee. Shirin wants to
make an easy reference chart that lists the prices of different lengths of a fabric. One
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Check your understanding:

Build Your Skills

pg. 29 ng. 31
#4to 6 #7to 9

Practise Your New Skills
pg. 32 - 35
#1to8



4. La Boutiqgue du Livre 1s

a francophone bookstore

iIn St. Boniface, MB. It sells notebooks in packages of
T”IQ for $1 5.4aﬁnmther bookstore sells the same

15 for $19.65. Which is the

notebooks in packages of |

better price?

FID.4R < &\ A0
Ve b ooks

oole, & Aa Bouts
/ DO qd,wk'lma,%:,%
Y s F O

1. L5 = &\ .2\ [/ book

\S bookS



5. Which is the better buyi 6 muffins for $7.59 )or
1one dozen muffins for $14.99"




6. Johnny can buy|two 8-foot plEGesbf 2" by 4
lumberiat $2.60 each,\orthree 6-foot pieces for $1.92
E@Whmh is the better buy per foot?

"i@*ﬁab = S X S0 [ £

Q4+
Mgy Lot pocts e L+t
§ 1A% = &) 3/ [ W
L+t WAL G

| owan b
R



7. Sasha is a landscape gardener. He sees that g 200-foob roll of string trimmer line

ﬁ roll of linE

a) Which roll of line is the least expensive per foot?

BIETS _ $0.092375 /8. X P O.0A/fert
200+

#EE%{E = 0. \ov [ f4. X B0AD [l
c, .
1 -;Ma "&[ﬁj_-&ﬁ’r ol e \ess EJLPF!-"F\E-;N'-L Fﬂ"‘- -E%.:.—F.

b) What is the difference in price, per foot?

$0.1D
~$ 0.09

4D.D\ ?m@mi




8. I[@kg of tomatoes cost $8.25, how much will you pay for 7 kg?

Ve = .5 |

| 7 A5 x = $5105
(’%"3 BD/}%>( kﬁ> \ Q-5 NS
= #9310 . X = $233.1D
st privee, :. reporhovy
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0. If Wayne bought 5 litres of gas for his lawnmower for $5.45, how much would he
have to pay to hll his car with 48 litres of gas!

PENS - g\ oA/ | TS = X

5L | > e
(§1.04/L) (4R LD | Bx = #L1.6D
J = 2
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PRACTISE YOUR NEW SKILLS

1. During the summer, Dean works as a cashier in a store near Saskalchewan's

Greenwrater Lale Provincial Parle. The store sells a case of 12 bottles of water for

28.50 and individual bottles of the same brand of water for $1.55.

a)  Approximately how much does each bottle of water in the case of 12 cost?

*R50 = $0.1083... = $01\/pattle
Vo

b} How much would a customer save by buying a case of water, rather than

12 individual bottles?

\hx #\.55= *\8.LO
- 2580

= 41D.10 sawved by "m..u.l'-.njﬂt. coase .




2. Maureen purchased enough carpel Lo cover a reclangular room measuring 7 melres
by 12 metres. The carpel costs $8.15 per square melre.

a) How much carpet did Maureen buy?

Aves, = Lx W
— C_-I'I'H':} > (_[1-.,-..-:)

B squate metres »F carpel

b} How much did the carpet cost?

$915 x 8% = TLBY.LO



3.

Tyler is a self-employed sheet metal worker, He purchases 25 sheets of aluminum

that measure 4 leet by 8 leet. The cost is $4000.00 belore tax and shipping.

a) How much does 1 sheet cost?

THO00 .00 = $,0.00 per sheet
A5 sheets

b} What is the price per square foor?

\ sheet = B C4) x (BED = 3 s%mn-re_ feet

3\LD. DD _ %500 /square oot
PN




4. A painting business buys 3-inch wide paintbrushes from a supplier in cases of 6.

(Jne case costs $31.29

a) How much do two brushes cost?

Uit price £31.28 = 95.2\5/ brush
b brushes

(ﬁ' 5.2\ / brush) X (& brushes)
= $|0./A3 Hir L brushes

: S
I"l-.:l Ir::l. CLSLOITEer ]'JIJ.}-'!-. UW0r O TS CHBE, ||'Il' =Ll [1IJ|.I-I.!F F-E'EIIJ LILTEES l}li' J':IF.I.'-E“: -ZZII- ||'I-i'! 3 E'ﬂ"jﬂ f‘uﬁhﬂ‘i

case by 10 percent. How much would 3 cases of paintbrushes cost? How much

wiould each brush cost?

Total et = {_5%&;}1 f.’l"!ﬂ-?uﬂl‘)?‘- {D-ﬁ\ﬂ:) = % 34.48

Ut ?r' ce= ¥ gq;g = P4 L9 per orush
\
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5. Which is the better buy: 8 ounces of Brie cheese for $4.95 or 12 ounces for $7.497

) A5 = $05.,1275 (0T
?0%.




Debbie is o cook in o restaurant that is open © days o weeld She is responsible [or

recording and monitoring the amount of money she spends on food. In the summer,

she uses an average of 9 loaves of bread per day.

al On aver age, howr many loaves of hread does Dehbie use each week?

(A/day) x (b aoays) = 5S4 lvaves

Bl If bread costs $1.25 per loaf to buy from a wholesale distributor, how much
money should Debbie budzet to purchase it, for the month of June? Assume that

there are just 4 weeks in June.

F1L2e)x (8Hx (W) = $210.00



O

The cost of a 355-mL can of juice is $1.25 in a vending machine. A 1.89-L carton of

Lthe same juice costs 33849 at the grocery store. How much would vou save per ml il
v bought juice Trom the grocery store instead of the vending machine? (Hine: 1L

equals 1000 ml )

) > = $0.00352.. . per el
Ao

@ l'ga L = .89 % 10D = IB9DwmL

¥3.909 = 60.00205... per mbL
IR0 e

Now wouwd save approxiwodely ¥ 0.00352- $0.00%05
=% D.00%7 per mL



oo

Patricio is ordering cartons of detergent lor resale in his store. He can order a carton
of 12 for $34.68 plus $5.45 for delivery, or a carton of 18 for $31.30 plus $6.25 for

delivery. Which is a hetter buy, and by how much per unit?

® 5 LBL4SHD= FHOND = $ 3 2. = B33 fumit
.

® 813D+ 3625 = $871.55 = %3 .\q7.. =% 3.20 /unt
\2

The cavton of 18 15 Yhe beter "bll-‘-[ b‘l P34 - %5320
= 50 % funvt



